PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
20th July 2016, 03:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Right to Information Act was passed by Parliament of India in WASCEIK) PR
SfUfgm, YR d9g gRI T uTia g ATl

® 2005

® 2004

® 2006

* 2003
Correct Answer :-2005
2)

Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one / auy ﬁ, IR g fed
T g, o @ 9 fodl yeR S 991 & ik S19] T 3T 8| 3MeNT ardl JTd Bifed |

® Beam / ®RA

e Pillar / &Y

* House / WX

®* Roof / &d
Correct Answer :-House / @X
3)

Question Stimulus :-

Andhra Pradesh is famous for this dance form / 3¢l We¥ 39 I el & fore ulrs &:
® Garba / TRdT

® Kathakali / BUB

()



® Kuchupudi / ﬁg@‘r

® Bharatnatyam / HIdATCIH
Correct Answer :-Kuchupudi / $TIgst
a)
Question Stimulus :-

_______are also known as ‘Fold Mountains’./ ___ ,'dg yda' A9 | +ff ST Srar %I
® Himalayas / %Irm
® Vindhya/ faen
e Satpura/Idd4sST
* Aravalli / 3RTael
Correct Answer :-Himalayas / fgHTed
5)
Question Stimulus :-

If you are heading south-west and take a U-turn, which direction is 45 degrees left to you? / Elﬁ Gﬂ'qa'fEfUT-qf;Jl:f @i

Y T¢ T2 ¥ 3fR SITum U g fRoran, i <t fam=m eimu & 45 f&wft # qr¢ 3k @2
® North /33X

® South /E'fEI'UT

® East/Rd
° West/tlﬁfq

Correct Answer :-North / 3tY

6)
Question Stimulus :-

A farmer grows 3 crops in rotation — A, B, C. A is grown between the months Jan-June, B between May — September
and C between August-December. Each crop takes 3 months from sowing to harvesting. At a time only one crop can be

grown. / T% foram= Frrafira emad= o 3 A SIET 8 - A, B 3R ¢l A S S AR & =, B 05 -Riawar &
i, 3R ¢ e -fewiaR & ftar ST ST 81 vl BId § gars @ $ers & [4Y 3 UEH o &1 U 9Hg |
$Id TP BT IS ol el gl

If the farmer wants to sow B in the month of July, what is the latest crop A should be sown? / af¢ mﬁm &

@)



HEH | B Pt S ST I18d1 8, T BHA A Pl Td-aH fH A6 T THAT S Afee?
® February / BRa!
 March /ATd
o April / 30
* May/HE

Correct Answer :-April / 30d

7)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / e uy ﬁ, ua'@r I uel & fi= foeedt
TPR T B3 way 3| o fawen & I 9y ug IR e TR ug & a1y St veR @1 99y 2]

Light : Sun :: Heat:? / W'QT:'\‘I& RTINS |
® Electricity / foorett
® Moon / IgHT
® Fire / 3Ry
e Stars / A%

Correct Answer :-Fire / 3T

8)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu gfHT
wit foT 7T Y=l vd Freeul & TR § @€ 21

Statements: / ®Y:

Some cycles are scooters / PO ﬂﬁﬁm ITPHcY %

Some scooters are cars / PO Wﬂv‘ﬁ' %

Conclusions: / Ao

I. Some scooters are not cycles / I. P& ¥hpc agfed TR 7
I1. Some cars are cycles / II. $© &R ABfed 8

(4)



® Only conclusion | follows / Wﬁfﬁﬂf I fFradan %

® Only conclusion Il follows / Had ey 1| feadn %

® Both conclusion I and Il foIIows/H-']Tﬁ' ey 1 3T 11 Fipad %

® None of the conclusion | or I follows/ﬁwﬁf IFTIIH A aﬁ‘é' q’é'} Freadar %
Correct Answer :-None of the conclusion I or Il follows / ffepd 1aTIIH A aﬁé :I'ﬁ IECSGI %
9)
Question Stimulus :-

Jahangir Mahal is located at_____ ./ ek "gd T fRya g1
e Seoni/ Ryat
® Asirgarh/ IR
® Orchha / 3RST
® Mandu / HTg
Correct Answer :-Orchha / 3RST
10)

Question Stimulus :-

Six people A, B, C, D, E and F are sitting on the ground in a hexagonal shape. All the sides

of the hexagon so formed are of same length. A is not adjacent to B or C ;D is not adjacent
to Cor E; B and C are adjacent; F is in the middle of D and C. / 9: GI| A,B,C,D,E 3R F o

W UCHINT AMHT § 8 B | Tepivr o1 Tt Yoirel P oas T TSI BACH A A A TEI €; CATE

FTAADTEE; BIRCTEHET; DIRCFHdTFRI

Who is at the same distance from D as E is from D? / D 9 Sa+il g1 g8l R 319 ¢ et gt R E,
DJ3g?

Correct Answer :-C

(%)



11)
Question Stimulus :-

Which of the following can be abolished, but not dissolved? / fra T 9 frae! [ foraT =1 g@dr %, aAfepT W
T8 fopam < gpdr 82

® Rajya Sabha / ITSOHHT

® Municipal Bodies / TRt e

* State Legislative Council / T faer= 'Clﬁ'qﬂ"
® None of the above / EW{:IW ) ﬁé el

Correct Answer :-State Legislative Council / Wﬁ%ﬂqm

12)
Question Stimulus :-

M is taller than S, P is shorter than G and M is taller than G. Who are the tallest and the shortest? / S ﬁ M 4T %, G

AP BICIETI G I M Tl 3] IA9H ddl Ud AT Biel B 82

® Cannot be determined / IGOIEG] 1 fopar ST Tpan

Correct Answer :-Cannot be determined / fRIeifd =1gY fooam i1 Tpar

13)

Question Stimulus :-

Pre-historic caves of Bhimbetka was discovered by ./ WrAde®T 3t Qﬁﬂ,ﬁrﬂm ﬂ'q)-[\?fﬁ I @ AP
Al

o BKThapar/@% YR

® V.S. Wakankar / 91.G. GTHUTHR

* Zulfeqar Ali/ JfRBPIR 3rcit
e D.K. Singh/ 81.%. Rig

(6)



Correct Answer :-V.S. Wakankar / 91.T9. GTH UG

14)

Question Stimulus :-

National Service Volunteer Scheme and Rashtriya Sadbhavana Yojana have been merged to form the o

TP AT FIST & WAHTP SR AT TogTa 1 Aol Y faeg R s femmars_ |
® National Young Leaders Program / ?T@'q qdr e whmw
® National Youth Corps Scheme / ?TQTI' qdr1 PR o
® Nehru Yuva Kendra Sangathan / eI'ERK qdr1 W e
® National Service Scheme / ?T@'q 4T o1

Correct Answer :-National Youth Corps Scheme /?Tgfq qdr1 DR AIST

15)
Question Stimulus :-

A team of five is to be selected from amongst five boys (A,B,C,D and E) and four girls
(P,Q,R and S). Some criteria for selection are: / tlﬁ?l?@af(A B,C,D, 3R E) 3R AR
asfpai(P,Q,R,3MR S) § A UM AN &1 T &9 T I BT &1 Waﬂaﬁé’r%

A and S have to be together. / A 3R S 914 81 91T |

P cannot be put with R. / P &I R & 914 98! ¥@T ol I |

D and Q cannot go together. / D 3R Q TH T1Y 5! off & |

C and E have to be together. / C 3R E U& I1¥ gl g9 92T |

R cannot be put with B. / R &1 B & 914 81 I@T ST 9Pl

If A and C are members, the other members of the team cannot be / 3R A IRCTHP o]
g, d 3 U Ug 8l 8 IPpd

e B,E,S
e D,E,S
e ES,P
e P,QE

(7)



Correct Answer :-P,Q,E

16)
Question Stimulus :-
Anil told Sally, “"The girl I met at the hotel was the youngest daughter of brother-in-law of
my friend’s mother.” How is the girl related to Anil’s friend? / 3 A '@Fﬁ?ﬁm, “dg
aSH! forad & giea § firem o1, 95 ¥ G &1 A1 & ¥ BT 9a BT 9 17 a5 A & GRd ° by
wafta g2

e Cousin/ TR dg-

e Mother / HIdT

e Grandmother / Il

e Granddaughter / Treit
Correct Answer :-Cousin / T3 989
17)
Question Stimulus :-

Which one of the following is NOT a cash crop? / FfEdd o=@ TP Tdhgl BAd Tal 4

® Cotton / PUTH

® Groundnut / TTCb_Q‘ﬁ

® Sugarcane / AT

° Wheat/ﬂ'g*
Correct Answer :-Wheat / 1§
18)

Question Stimulus :-

Among five friends, Dipti is in the middle by age. Kamal is youngest. Savitha is older
than Narayan, who is younger than Rashmi and Dipti. Who is the oldest among them? /

urg fil & 9, el S S 99H § g1 9T 999 ST g | Iiadar AR 9 g1 g, 5 fop vt ok fawdt
¥ BieT g | 399 999 9371 S 82
e Kamal /HA

e Savitha /afqar

(8)



® Narayan /RTIU
¢ Data inadequate / ST Tt ?

Correct Answer :-Data inadequate / $¢T 3[04

19)
Question Stimulus :-

Which of the following districts does NOT belong to Sagar division? / fFrrafafaa el & @ @9 a1 e anR
U BT 751 82

® Panna / Al

® Damoh / E'Fﬁ_&'

® Tikamgarh / ACZRI
® Satna / HdAT

Correct Answer :-Satna / dd-l

20)
Question Stimulus :-

Who was the first governor general of India? / HIRd & YT IR SR DI A?
e Lord Metcalfe / ATS AEHTAD
® Lord Wellesley / TS de
® Warren Hastings / aﬁq%%m
® Lord William Bentinck / @TS faeiiad S<id

Correct Answer :-Lord William Bentinck / @TS [qeiigd d=i®

21)
Question Stimulus :-

Which footballer has played more than 100 international matches for India? / foa m'\l"c"[ @?ﬂ?ﬁ FURT &

foe 100 ¥ S sraRvTPIg AT @A &2
® Sunil Chhetri / g-iTa &1
* Baichung Bhutia / STSYT Yfear

©)



e Syed Rahim Nabi / 9U¢ T8I TS}
® Jose Ramirez Barreto / W RS ¥l
Correct Answer :-Baichung Bhutia / STSG Yfear

22)

Question Stimulus :-

Victoria Terminus is located at __. /ﬁaaﬁ'{ﬂ i - A R« %

* Mumbai /a8

® Bangalore / USRS

e Chennai /393

® Kolkata / PIcieTdl
Correct Answer :-Mumbai / §a%
23)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fawe gHu
wil foT 7T Byl vd el & TR § 9€ gl

Statements: / HY:
All beds are cots / 8! foR o= &

No cot is sofa / IS a%d AT T8 &
Conclusions: / fswH:

I. No bed is sofa / I. @I fawR GG 8l &
II. No sofa is cot / II. &S WPl d&d gl &

® Only conclusion | follows / Wﬁrwcf I fFradan %
® Only conclusion Il follows / Wﬁw& n freean %
® Both conclusion I and Il follows / @IF} Y I 3R II fread %

® None of the conclusion | or Il follows / fFepd 1arII § @ Tﬁ'&; T'I'ﬁ' IECASGI %
Correct Answer :-Only conclusion | follows / *Had freey 1 FApadr %

(10)



24)
Question Stimulus :-

The nickname given to India’s first atomic device was / HIRd 3 Ugat UHIY] gi%r 31 foam Tar I o

* Smiling Buddha / TTSIT &I
® Fat man / ar(.’ ﬁ=r
e Little Boy / faifew ara
® Laughing Buddha / €T §&T
Correct Answer :-Smiling Buddha / TATSeT §&T

25)

Question Stimulus :-

A courier agent has to deliver post in 3 streets. Each street has 5 houses. He takes 2 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
20 min to go to the next street. His day starts at 10 AM and finishes off by 3 PM, with no
break in between. / T® BRI Toic ®I 3 TR A ST ST 81 TS T A5 R AN TP IH A A 2
e AT IR R T & W W A WA # 5 e dar 31 af 3rTeft welt & WM & 20 fFe dar 81 39T 9
a8 10 TS I Bl ¢ 3R GIUex 3 9o W gid1 21 98 39 oI Bis A =8 qarl

Suppose the postman has to cover only 1 street with all the houses. He started off at 12

PM. By what time will he finish off his work? / #H &ifog f& e &1 1 S Tl A M R d ux
TgTH g1 I9A SIUER 12:00 9 T IR [Ha1 ATl {5 90 a% 98 (U1 BT WH B T2

* 12,50 PM / QISR 12.50 Tl
* 1pPM/CIUEY 1 99

* 12,30 PM/ GIUSY 12.30 T
* 1.30PM /3IUGY 1.30 §9

Correct Answer :-12.30 PM / GIUEY 12.30 ¥91

26)
Question Stimulus :-

‘Smoke’ is related to ‘pollution’ in the same way as ‘war”’ is related to / ‘Y31’ Tafla & ‘wgwor
q M TeR A O @ g 9dfta g ™

® Victory / Sita

® Death / g
(11)



® Destruction / foam=r

® Treaty / I
Correct Answer :-Destruction / =TT
27)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe i{ﬁT{
Sil 3T 7T HyAY vd el & 9 A 9E 2

Statements:/ ®YA:

All sarees are dresses / 94 ISt HWT:‘:' g

Some chudidhars are dresses / $9 ?J@ET\'W% %
Conclusions: / fAhd:

I.All dresses are not sarees / 1.l U8 TS &1 &

II.Some dresses are not chudidhars / I1L.$9 m% ﬂ@&'ﬂqﬁ%

® Only conclusion I follows / aﬁﬁﬁwﬁf I Feaar %
® Only conclusion Il follows /aﬁﬁﬁﬂﬁﬂf i FHpear %
® Both conclusion land Il foIIows/EﬂTﬁ foreed 1 Gﬁ? II foad %
® None of the conclusion | or Il follows/ﬁWGf IFTIIH A aﬁ‘g‘ T-Iﬁ Freaar %
Correct Answer :=None of the conclusion I or Il follows / e I1arIId 9@ aﬁé T8l Apadar %

28)

Question Stimulus :-

Who among the following is known for Bagh Print craft? / fFfafafaa d 9 3’5'7{, s flic R s m CIE|
SITd 872

® Aman Ali Khan / 3MH9 3¢t @1
® Wajid Khan / 9Tfelg @@=
® Mohammed Yusuf Khatri / 'Fﬁ?m?{ qqp ECE ||

® Rais Khan / m@ﬁ

Correct Answer :-Mohammed Yusuf Khatri / TIgH¢ JgH A

(12)



29)
Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below are four drawings of boxes with

designs. When folded, which box will it be?/?;"l'd’f MR W a@ﬁﬁﬁmﬁﬂa’rwﬁzﬁsﬁ%muﬁmaﬁ
forar ve Tor fe@rd! 3] R fEwrs=l ard 9ol & IR 151 & Pies ®31 W, S 9T 91 SN2

AN

R R
R e
ARARAN

]
]
[=?

\
) ah

SRR RSN
M

Correct Answer :- =

30)
Question Stimulus :-

If shoe means soul, and it’s not soul, then it’s not shoe. /Iﬂ%\‘rjﬁm Tqed 3T 8, 3R T8
STeT 781 8, o 9% a1 T8 B

* True/ '\T(?f

* False / Teld

e May be / B IPar g

e Irrelevant / VRIS

Correct Answer :-True / Hgl

(13)



31)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawea gﬁ"!,\_rﬁ' qb DI i
AT W HSA S I3 :

If Meeta is clever but not lazy then she can achieve the target. / SRR HYaT ITeTe & Afer
JTereft TEY Y I8 W8T B R B bl gl

* If Meeta is not clever but not lazy then she can achieve the target. / 3R HidT

ATEATS 8l § Afep=T smeredt WY T8 1 9% A&y B )T HR IHe B

* If Meeta is clever but not lazy then she cannot achieve the target. / 3R HidT arard
® AferT errerelt =) oY 9% WeT B TRT TEY B APl B

* If Meeta cannot achieve then she is clever as well as lazy. /GITI'\’Iﬂ'qugTHﬁW
AFHAL § A I TP S ATd-A1Y vt f g

* If Meeta cannot achieve then either she is not clever or lazy. /GFWIﬂHTQRTH’E?fW
Sl ¢ dF 95 AT A ArAren T et 6l gl

Correct Answer :-If Meeta cannot achieve then either she is not clever or lazy. / 3R

w1 7 T8 B Thd! ¢ 91 98 a7 a1 ITeTen aT STt el 8l

32)
Question Stimulus :-

Kuno wildlife sanctuary is located in which district of Madhya Pradesh? / Fﬁ' TSGR UYG AL FI%SZT co
fora forer & R &2

® Sheopur / Q’*ﬂ'ﬂ?
® Ratlam /IdclTH
* Bhind/ftiE
® Rajgarh /TS
Correct Answer :-Sheopur / TN

33)
Question Stimulus :-

Agnes Gonxha Bojaaxhiu is better known as . / 369 MR WY & §&1 ©U A
& U § ST 1T g1

(14)



® Mother Teresa / qﬂ?h

® Annie Besant / E7'ﬂ' e

* Sonia Gandhi / Iif=rar i

® Lady Mountbatten / St HIGe ded
Correct Answer :-Mother Teresa / W&WT
34)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Fufifad vy & ve afe w0 # Il &) orawt #3 3R 39F a1g 19 fou v fawen A @ 99 Iuge
ST BT TIT Py
1. Sentence 2. Chapter 3. Letter 4. Book 5. Word 6. Paragraph

1. 91 2. AWM 3. TF 4. fHaE 5. I 6. DG
* 4,2,1,6,53
* 4,2,6,1,53
* 4,6,1,2,3,5
* 4,6,2,51,3
Correct Answer :-4,2,6,1,5,3

35)
Question Stimulus :-

The highest point in the eastern ghats is / 'gﬁfﬂ'l? H I=aH ﬁg %:
® Mahendragiri / 'Fléaﬁm
® Annaimudi / Gf'_'l'lgﬂﬁ

® Gurushikhar / W
® Blue Mountain / ﬂ'ﬂ'ﬁ%:f

Correct Answer :-Mahendragiri / u%‘a’ﬁr&
36)

(15)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawea ﬂﬁlﬁ,\—rﬁ qd DI ¥
F R MU sH S Iu§ :

If no money is left then she will go to ATM., /WWWT@W@??‘TWE‘&@WI

e If some money is left then she will not go to ATM. / 3R $3 ¥Ud §d § a1 98 Tud gl
ST |

* If some money is left then she will go to home. /WWF@@%’H’[T&'WWI

e If she goes to the ATM then no money is left. / 3R I8 TITH S of faagpa $ud =181
CE

e If she does not go to the ATM then some money is left. /GI'IT?'q"s'Ea'Q'Fr -'-I't?f\—rlﬁﬁ%ﬁ
FO T AR

Correct Answer :-If she does not go to the ATM then some money is left. / 3R dg

TEH 7 Wt @ ) PO T a9 B

37)
Question Stimulus :-

Which was the capital city of the Magadha Empire? / HITY ATHTST P e i At A
® Takshashila / T&TRIeT
® Patliputra/ m‘d%rgsr
e Ujjain /IS
® Champa/ L

Correct Answer :-Patliputra / 9Tefaiga

38)
Question Stimulus :-

is the Detroit of Asia. / 3| 1Z’,'B'I'!IIT DT @@TCIE' %I
® Chennai/ %ﬂ'&‘

® Dehradun / GERIGT
¢ Hyderabad / 8S3T9TE

® Jaipur / SIOYY
(16)



Correct Answer :-Chennai / 998

39)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 8 fawe ﬂﬁt{,\—rﬁ' a& &I €Y
AU HFF a7 :

If it is dark then Sam will come back. / 3N 3FURT B SITdT & oY TF 919« 3T ST |
e If Sam comes back then it is not dark. /Waﬂmm%ﬁmﬂﬁ%l
e If Sam does not come back then it is not dark. / 3FR I 99T &l 3ITdT 8 df 3T Tl 2l

e Ifitis not dark then Sam will not come back. /Wmﬂﬁ%?ﬁaﬂwaﬁ&ml

e Sam cannot see the road in dark. /&9 &'ﬁ%ﬁmﬂiﬂéﬁmﬁl
Correct Answer :-If Sam does not come back then it is not dark. /Waﬂmﬂé’faﬂ?ﬂ
2 dl 3FERT 78l 21
40)

Question Stimulus :-

Which of the following States does not have a bi-cameral legislature? / e wsal § 9 feas
fereta faemRreT =8 82

e Bihar /S8R
® Karnataka / m

® Rajasthan / XTSTRITA

® Maharashtra / HgIRTY

Correct Answer :-Rajasthan / ITSTRITT

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

A man can do a work in 8 days and with the help of his son he can do it in 5 days. In what time can the son do it

alone? / Ueh STRT Uh HTH &I 8 feAl # B ThdaT g 3R 3UA 3¢ &1 Wgradr § Il &9 &) a8 5 fo=1 &
P Fhdl 21 9T 3rbdl IQ fhaa IHg & H JPhdl 22

2| b
| o

e 13 “days/ 13 ° f&q
(17)



3
days / 13 4 fam

e
(=Y
W
+ |

2| =

2|

faa

e 13 “days / 13

[}y Y=
[ )y S

1 1
Correct Answer :-13 3 days / 13 3 faa

days / 13

2)
Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / A9 Uy ¥, =T 4@ A TP US A €| TAd US FId BIoA|

2,6,9,14,20,27

Correct Answer :-6

3)
Question Stimulus :-

In a certain code language, gyel gola geda means score good marks, gola sola yola means
only ten marks, and sola xela zeala means ten blue socks. Which is the word for yola in that
code language? / < @™ Fis Hmw ﬁ, gyel gola geda &1 Hddd % score good marks, gola sola
yola &1 Hddd % only ten marks 3T sola xela zeala &1 AAAd % ten blue socks | I B yeT A
yola & fore =1 oIt 82

® fen

® good

® marks

® only

(18)



Correct Answer :-only

4)
Question Stimulus :-

Two dice are thrown simultaneously. What is the probability of getting a sum which is
multiple of 3 or 62 / &l UM TP 1Y P MT| T GUET € S GBI M P orId o &1 Ion 3 ar

6 §I?

* 1/3

°* 1/4

° 1/2

* 1/6
Correct Answer :-1/3
5)

Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / fra

Pfd B T & o =gaw F= | feae! et Ya@rsi o smaxadwdr grir?

"“H«h\\

/ T~
/ D o

N |

Correct Answer :-10

6)

(19)



Question Stimulus :-

How long will it take a man to run around a square field of side 50 meters, at a speed of 12 km hr? / 50 £ rord YT ard

PR A P TFPI A | TP SAMeHT BT foha=m gwg @i, afe at 12 i ter 3 nfa 4 dredar &2
* 60sec/60 HPS
* 30sec/30 HPS
* 90sec/ 90 Yhs
* 75sec/75HPbS

Correct Answer :-60 sec / 60 JHS

7)
Question Stimulus :-

Two dice are thrown simultaneously. What is the probability of getting a sum which is a multiple of 4? / ﬁﬂw

1Y B T | T JUTGHT § 39 G-I 3 Bt o1 Faa g
°* 1/9
* 2/9
* 1/4
* 3/4
Correct Answer :-1/4
8)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂﬁf 3I&R AP gE@al B T PIOTT : _aaba_bba_bba

_abaa_b
® aabab
® ababa
® baaba
® bbaba

Correct Answer :=-aabab

9)
(20)



Question Stimulus :-

In the sequence shown below, which figure comes next? / -1g fR@R T H4 #, ATl P
P9 W gifi?

Il

i

Question Stimulus :-

Correct Answer :-

10)

The cost of a tape recorde5 is Rs. 2100 which is 30% below the marked price. Find the
marked price? / T& U R&is? $1 @R 2100 3Ud 7 <t fafgd oo & 30% &0 %I fafed gea &1 e
Te?

* Rs. 4000/ 4000 ¥Ud

* Rs. 3000/ 3000 TUQ

* Rs. 2000/2000 33

* Rs.1000/1000 TUd

Correct Answer :-Rs. 3000 / 3000 TUJ

(21)



11)
Question Stimulus :-

If 150 is 25% of a number, then 125% of that number will be / Tf¢ 150 TS H&AT BT 25% &, I 3T =T BT

125% M
® 750
e 800
® 720
® 700
Correct Answer :-750
12)
Question Stimulus :-

Find the value of "P,, / "P,, &1 U A&1ferd

® np!

® (n-1)!

e 0
Correct Answer :-n!
13)

Question Stimulus :-

If SYSTEM is coded as SYSMET, how is ORANGE Coded? / df¢ SYSTEM & SYSMET &
PIfEa fopaT SITaT 8, 9 ORANGE &) &9 ®ifed far Sirar 82

e AROEGN
e EGNARO
* ORAEGN
* ORANGE

Correct Answer :-ORAEGN
(22)



14)
Question Stimulus :-

The below series uses a sequence of alphabets and nhumbers. Identify the incorrect

combination. / T &I ¥ sRaen &Rl T HEATSH BT SIHH WART HRdl €| Terd Hale ygan-d|
(i) VB894120H53

(i) VB894120H53

(iii) VB894120H53

(iv) VB294120H53

® ii
® jv
Correct Answer :-iv
15)
Question Stimulus :-
If 2p-5=p+7, what is the value of p? / i 2p-5=p+7, @ p PI AT HH 82
e 13
e 12
e 10

e None of these / §H ¥ ®Is gl

Correct Answer :-12

16)
Question Stimulus :-

In a certain code language, dada nana papa means sell and buy, nana nina nona means buy
good shirt, and sida dada noda means play and enjoy. Which is the word for papa in that
code language? / foret @ wis Hw ﬁ, dada nana papa &1 Hddd % sell and buy, nana nina
nona &1 HAWd buy good shirt 3R sida dada noda &1 ¥ddd & play and enjoy | 33 HIs WM #

papa ¥ fiQ &1 2 82

(23)



® shirt

® sell

® buy

® and
Correct Answer :-sell
17)

Question Stimulus :-

3

| e

th of farm is used for growing vegetables. If # th of this portion is used for growing

4
tomatoes. What fraction of the farm is used for growing tomatoes? / B BT I i
3

I & ford vt fosan wiran g afe 59 YRt &1 4 e oo™l & STH & ford uaT far sirar g v
BT fPa1 e cHel & ST & o uan fear s 82

U | L

wh | ba

| o

[T

U |

Correct Answer :-

18)
Question Stimulus :-

If 659A x 5A3 = 3580542 Where ‘A’ is representing a numeral; what is the value of A? / 'CI'% 659A x 5A3 = 3580542
S8l ‘A’ T EBTP &, dl A BT HIF T BII?

5

e 4
(24)



e 3

e 0
Correct Answer :-4
19)

Question Stimulus :-

In a certain code language, jes nor tec means knowledge is truth, tep lec niz means never
seek violence, and dom tec kan means speak the truth, lec jes par means always seek
knowledge. Which is the word for always in that code language? / fooeht @ s utw A, jes
nor tec &1 Hddd % knowledge is truth, tep lec niz o1 Hddd % never seek violence, 3R dom tec
kan &1 Hddd % speak the truth, lec jes par &1 Hddd % always seek knowledge | I B YT H

always ¥ fore =1 71T 82
® Jec
® jes
® par
® ftec

Correct Answer :-par

20)
Question Stimulus :-

When 'K’ is added to the ratio 5:2, then the ratio become 4:3 what is K? / Sd 3Uld 5:2
# K’ SitST SITdT 8, 99 3guTd 4:3 I STdl §,K 1 82

Correct Answer :-7

21)
Question Stimulus :-

-8-25+39-6-13+80=?

(25)



® 67
® 60
® 57
® 54

Correct Answer :-67

22)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ a9 ol M aR el § & R 33 TR U F St wwE B 91 U 8 82
Herrn

Eberhard Wellhausen

Wittekindshof

Schulstrasse 4

32547 Bad Oyenhausen

GERMANY

(i) Herrn

Eberhard Wellhausen
Wittekindshof
Schulstrasse 4

32547 Bad Oyenhausen

GERMANY

(ii) Herrn

Eberhard Wellhausen
Wittekindshof
Schulstrasse 4

32547 Bad Oyenhausen
GERMANY

(26)



(iii) Herrn

Eberhard Wellhausen
Wittekindshof
Schulstrasse 4

32547 Bad Oyenhausen

GERMANY

(iv) Herrn

Eberhard Wellhausen
Wittekindshof
Schulstrasse 4

32547 Bad Oyenhaussen

GERMANY

® jy
Correct Answer :-iv
23)

Question Stimulus :-

What percent of 2800 is 1820? / 2800 T {1 Ufa=ia 1820 &2
® 60%
® 70%
® 65%
® 62%

Correct Answer :-65%

(27)



24)
Question Stimulus :-
Complete the series choosing the missing number: / AW TBAT TAHR 9TAT B TR BIOT :

1,9,25, ,81,121,

® 45
® 55
® 49
® 50
Correct Answer :-49
25)
Question Stimulus :-
Complete the series choosing the missing number: / AW BT DR 4G BT TR BIOT :
1,6,11, 21
* 12
* 14
® 16
* 18
Correct Answer :-16
26)

Question Stimulus :-

A watch was bought for Rs. 530 & sold at 4% gain. Find the selling price? / W‘aﬁ 530 TUY H WIS Tl
3R 4% ATY TR 99 < Wit | fasst gor &1 var amg?

* Rs. 551.20/ 551.20 ¥UY
* Rs. 451.20 / 451.20 393

* Rs.351.20/351.20 ¥4

® None oftheselsqﬁﬁaﬁ'scﬂﬁ

(28)



Correct Answer :-Rs. 551.20 / 551.20 TU3

27)
Question Stimulus :-
A man left for city A to city B at 9:00 am. He traveled at the speed of 80 km/h. If the total distance from city A to city B
is 380 kms, then at what time did he reach city B? / Th C’H’Iﬂ"ﬂ TN A J QU B & feord gdg 9:00 CEECIE Eﬁ?ﬂ
81 9% 80 fomft/der &5t i & aTa AT ¥ 9fe R A F MG B TP P Fad get 380 fhHl g, O T ST B
foraq I ugeET 82

® 1.30 pm/GIUGY 1:30 IS

® 1.45pm/ a’lﬁ? 1:45 9%

® 2pm /?ﬂTIB'\’ 29

® 2.15 pm/ GIUGT 2:15 99
Correct Answer :-1.45 pm / QIUGY 1:45 99
28)
Question Stimulus :-

If TRIANGLE is coded as SQHZMFKD, how is EXAMPLE coded? / If¢ TRIANGLE &I
SQHZMFKD J $ifed forar SiTaT 8, &t EXAMPLE &) &9 Sifed forar wirar 82

e DYZLOKD
e CYZLOKD
* DWZLOKD
e OWZLNKD

Correct Answer :-DWZLOKD

29)
Question Stimulus :-

The average of first ten primes numbers is / gl o 31T J=AT3i P 3N &
® 12,9
* 13

* 127

(29)



e 13.1
Correct Answer :-12.9
30)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂl?f S&Y AP SEr I T ifﬂ'ﬁrl'({ : gfe _ig _eii_fei_
gf _ii

® eifgi
® figie
® ifgie
® jfige
Correct Answer :-ifgie

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

Voice of our friend is recognized by its / Fﬂﬁ' EEEIRIGIS m GIRT UgdAT-1 SIrelt %
® Frequency / GI'IQ'R'T
® Quality / T[UT
® Ppitch /dIRd
® Amplitude / 3I”ITH

Correct Answer :-Pitch / dIRcd

2)
Question Stimulus :-

Which type of soil is used in Pottery? /ﬁl?f & ol § fog THR $t Hal TAHT B ATl |2
e Silt /¢

* Clay / fae=it gar

® Loam /gHC

(30)



* Alluvial / STdlG
Correct Answer :-Clay / a1t qa1
3)
Question Stimulus :-

Identify the metal which is not corroded by acids, bases, air and water . / 39 YTq 3| tl?ﬂ'lﬁ' | SHT, &R, d1g

3R o A Herfva & @
® Zinc /STl
* Gold /T
® Copper /dTqT
e Tin./feA
Correct Answer :-Gold / 9T
4)
Question Stimulus :-

An upright image is called / TP 3gU ufafed o el Sar % :
* Inverted / SfeN=if
* Erect/ -2l
® Lateral/ tﬂ'f%

® Virtual / 3THT
Correct Answer :-Erect / -G

5)

Question Stimulus :-

symbol makes the following statement true. / @ .......... few e
q B A T 31
3.25 x 103 325
o >

(31)



Correct Answer :->

6)
Question Stimulus :-

Given three collinear points A, B, C, how many line segments do they determine? / ﬁ'&’ RILY Gik| ﬁg A B, C '\‘ﬁ@'ﬂ

2, U8 fpaa Yaravs! & Fuifva ovd 82

Correct Answer :-3
7)
Question Stimulus :-

log ;3 = 0.4771

1f 1081, 2=0.3010

and , then the value of 18115 jg / afe
log132=03010 afe log ;3 =04771 at o115 g1 41 Gt
14

® 0.7161
® 0.1716
e 0.7781
® 0.1761
Correct Answer :-0.1761
8)

Question Stimulus :-

Study the pie-chart and table given below and answer the questions that follow—(The data
shows statistics about 4 Colleges (P,Q,R,S) as in the year 2005.) / 19 3T ¢ uig = oMk
RN &1 g B 3R A1 o usi 1 3R 1 U8 S1eT 99 2005 § IR Hiasl P,Q,R,S F Hifrd!
LGN

(32)



Students” Ratio

e College | SCiENCE: Bﬂ}-’s :

£ Commerce : | Girls

=

7 Arts

g P 1:4:1 5:4

z Q 11| 50
R 2:5:2 2:7
5 3:5:1 1:8

Tetal Strenght of PG, RS
Collzges is 3600

The total number of arts students expressed as a percentage of total humber of commerce
students is (approximately): / 3ed fAenfyal &1 $a I F1AY faanidal $1 Fa T & Ui &
U H q B W T G2 T

® 32

® 36

® 35

® 30
Correct Answer :-36
9)
Question Stimulus :-

Study the pie-chart and table given below and answer the questions that follow—(The data
shows statistics about 4 Colleges (P,Q,R,S) as in the year 2005.) / 9 feu 7T g = 3k
IRt BT 3remgT B 3R H1 ford sl &1 3R &1 U8 S1eT a9 2005 H IR Fiaw P,Q,R,S & Hifars!
CGIGIN

Students” Ratio

2 College Science : BD}"S‘ :

8 Commerce : | Girls

=

@ Arts

3 P T:d:1 | 5:4

= Q L1 | 5:1
R 2:5:2 2:7
g 3:5:1 1:8

Tetal Steanght of P.Q. RS
Collzges is 3600

(33)



If the numbers of students of college P increase by 12.5% and that of college Q decrease by 10%, what is the ratio of

the number of students in the two colleges?/qﬁﬁﬁﬁﬁ%ﬁﬁfﬁaﬂmﬁ 12.5 uﬁ&mﬁq@miﬂ
ITT 3R g # 10 U= @Y HHI T & WE, 99 57 SIA1 Braell & ST B AT BT AFUTd R SII?

Correct Answer :-1:1

10)
Question Stimulus :-

CFL is the abbreviation for / CFL ﬂﬁ.‘m ¥ % YD &
® Compressed fluorine lamps / PHUTS TR A
® Current fluorescent lamps / PIC R g
® Compact fluorescent lamps / PIAT FRIE< A
® Compressed fluorescent lights / U WIRE< GIE

Correct Answer :-Compact fluorescent lamps | BIUTE TARIE< dY

11)

Question Stimulus :-

How many tangents can a circle have? / forett qd WX fora=t W’Qfm _&;1' g&Hal % ?
® One / TH
® Four / TR
* Two / Gl
® |[nfinite / 3=
Correct Answer :-Infinite / 3A+d

12)

Question Stimulus :-

(34)



Curd tastes sour due to the presence of/3'\"ﬁ"ﬁ JufRUfT & BRI Hﬁ DI HTq Wgl 3-1' SITdT %
® Tactic acid /ﬁ% 3
® Acetic acid / @W 3
* Citric acid / ATSie® 30
® Butyric acid / Eqﬁﬁ$ ST
Correct Answer :-Lactic acid / Afae® 3@

13)
Question Stimulus :-

Haemoglobin, a red pigment is present in / '&ﬁ'ﬂﬁ"?ﬁﬁq, U dldd Ui 'Fﬁq\'d ﬁ’cﬂ % -
e waC/WBCH
e Plasma / Siiagad ®
* Platelets / fdamope o
e RBC/RBCH
Correct Answer :-RBC/RBC H
14)
Question Stimulus :-

As ‘?’ increases from 0 to 909, the value of cos & / S8-uid '§/ BT HHE 0 | 90° HI
3R a1 8, cos & BT HM

® decreases from one to zero / ThH T gehT PRI 3-1 SITdT %
® decreases from1to-1/ 1 J g -1 33[ SIGI %

® increases from zero to one / XU ﬁ' dePr 1 'E?f SITdT %

® TIncreases from-1tol / -1 J dehv 1 S‘f NIGIH %

Correct Answer :-decreases from one to zero / THh T UehT PIg 3-1 IGI %

15)
Question Stimulus :-
Study the pie-chart and table given below and answer the questions that follow—(The data

(35)



shows statistics about 4 Colleges (P,Q,R,S) as in the year 2005.) / = ﬁt{ Mg q‘l’s‘ I 3R
@rmﬂg-r AT B 3R 19 g el &1 3R &1 ¥g s1er 99 2005 § IR Hids P,Q,R,S $ JifyH1
ddidi gl

Students” Ratio

2 College Science : BEFS :

8 Commerce : | Girls

=

@ Arts

g P 1:4:1 ] 5:4

“ g LI | 5:1
R 2:5:2 2:7
8 3:5:1 1:8

Total Steanght of P.Q,P.5
Callzges is 3600

In College Q, 10% students failed in science, 20% failed in commerce and 30% failed in arts. What is the percentage of
failures in College Q? / ®TaieT  § 10 Ufar=ra faemif wrgw o srg=iivl @ 7w, 20 wfa=ra wrad & Si 30
yfaRra ST | SrRitol 81 MY Hrare W =0T BT BT Ui &1 gim?

® 15

® 25

® 12

® 12%

Correct Answer :-15

16)
Question Stimulus :-

The loosened soil helps in the growth of / et RISt 39% fa®rT o Weg wdl 3
* Microbes & earthworms / J&ASIT 3R HgT
® Flies & weevils / AfRadl 3R g
« Weeds & mushrooms / WRUAAR 3R BAF
® Al of the above / SURTTT T

Correct Answer :-Microbes & earthworms / J&AGIT 3R U

17)

(36)



Question Stimulus :-

Major cause of destruction of forest cover / I ToSTG & faqr &1 U HIRUT %
® Construction of dams / §T¢ BT femfor
® Overgrazing / ari%?m's‘
® Poaching / 3FUFd RIER HT
* AandB /A 3RB
Correct Answer :-Aand B / A 3R B
18)

Question Stimulus :-

For the treatment of acidity problems which tablet does the doctor recommend? / 3®Idl P THT & ITER &

o @i 30t et A ~ifvae grT Rrw e & o 82
¢ Analgesic / TTeol T
* Antibiotic / TETTTAIe®
* Antacid / GSTEfYS
e Antipyretic /GSTUTAR{CH
Correct Answer :-Antacid / GeTERIS

19)
Question Stimulus :-

Mushrooms, moulds and yeast are examples of / OAD, th_chﬂ MR @HR o Jqle}ul %
* Parasites / URSITAl
® |nsectivore / aﬁfglﬁ
® Autotrophs / ES L))

e Saprophytes / HdGidl

Correct Answer :-Saprophytes / Jdsitd!

20)
Question Stimulus :-
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Study the pie-chart and table given below and answer the questions that follow
—(The data shows statistics about 4 Colleges (P,Q,R,S) as in the year 2005.) / _
o 7 urd = SR ARvft &1 sremaa Y SR AR ford well ®1 IR &1 9w ster av 2005 #

IR Pidsl P,Q,R,S H Fifaa! Fdrdr gl

Students” Ratio

Science : | Boys:

E College .

s Commerce : | Girls

=

] Arts

g P 1:4:1 5:4

= 0 311 ] 50
R 2:5:2 2:7
g 3:5:1 1:8

Tetal Strenght of P,Q,R.S
C-a“aga: is 3604

How many girls are there in science stream of College S? /ﬁﬁ\_ﬁ X2 ﬁiﬂ? fawg & frasit BHETTC %'?
* 264
® 704
® 88
®* Data inadequate / S{Q'qurS'IET%

Correct Answer :-Data inadequate / 304w SleT @

21)
Question Stimulus :-

The perimeter of a semi-circle of radius ‘a’ is ./ B e’ & erddga &1 ufmm

(38)



Correct Answer :-

22)
Question Stimulus :-

If the area of my head were 15 cms X 15 cms, then the weight of the air | would be carrying on my head would be / '*TI%

W RR &1 &7 15 A x 15 A gYar, 99 # 3ro AR W gar 71 a9 afar :
e 2250 Kg / 2250 foUT
o 225Kg /225 foHum
e 22.5Kg/22.5 T
e 2.25Kg/2.25 fBuT

Correct Answer :-225 Kg / 225 {31

23)
Question Stimulus :-

ABCD is a parallelogram with AB=6 cm and BC=9 cm. The perimeter of the parallelogram is

/ ABCD T® THiaR Tgyei 8 94T AB=6 It 3R BC=9 A} §1 @ik Igys &1 uRkwumyg 3

15cm/15ﬁtﬁ

54 cm / 54 9

30 cm / 30 AT

e 3m/ 3#
Correct Answer :-30 cm / 30 93}
24)

Question Stimulus :-

The mucous secreted by the lining of the stomach / Uc & 3R gRT Hifda far rar sasHa

e Kills harmful bacteria that may enter along with the food / ETIEH)'IW St ﬁ'ﬂﬂﬁ?ﬂ
2 o Wi & T iR o |

® Protects the stomach lining from harmful substances / TIN®R® Ugidl ¥ U & 3R &I
eI

(39)



® Digest starch into simpler sugars / WA & Id T4 & 9 § v=rar %

® Makes the medium alkaline / HTSH 3| &l'l'\ﬁ'q CEIGI %

Correct Answer :-Protects the stomach lining from harmful substances / ETﬁ'GTRE'T IET?ﬁ@
¢ & 3RAY B AT &

25)
Question Stimulus :-

The present worth of Rs. 169 due in 2 years at 4% per annum compound interest is: / ufa af 4% &t 43 '\ﬁ, 2 quf

# 39 Iepgf TS TR 169 TUA BT JAAT &I §II
® Rs. 154.75
® Rs. 158
® Rs.159
® Rs.156.25
Correct Answer :-Rs.156.25
26)

Question Stimulus :-

A, B and C contract a work for Rs. 1100. A and B together.are to do 7/110f the work. C's
shareis: / A, B U4 CH 1100 U4l IR TP H1U 3 UR foRT A Ud B IIY AP S0 BT 7/ 11 3 B
arel 21 1 C BT 39 &:

® Rs. 600
® Rs. 800
® Rs.900
® Rs. 400

Correct Answer :-Rs. 400

27)
Question Stimulus :-

Study the pie-chart and table given below and answer the questions that follow—(The data
shows statistics about 4 Colleges (P,Q,R,S) as in the year 2005.) / =19 fRv ¢ u§ = 3k
IRl BT g HY R A9 for usif &1 3*wR 1 gg s1er 9 2005 # AR Hidsl P,Q,R,S FI HifTH!
CLIGIE
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Students” Ratio

e College | SCiENCE: Bﬂ}-’s :

£ Commerce : | Girls

=

7 Arts

g P 1:4:1 5:4

z Q 11| 50
R 2:5:2 2:7
§ 3:5:1 1:8

Tetal Strenght of PG, RS
Collzges is 3600

Which College has the maximum number of girl students? / e ﬂ?'lﬁﬁ'lm A 999 ot d=m A BHETT %:?

*Q
e bothRandS / cHirTdSs
e R

Correct Answer :-R

28)

Question Stimulus :-

Coconut is an example of / g APl 3glox Ul %
® Wind dispersal / 9T YR
® Animal dispersal / U] YR
® Man dispersal / HTHd YR
® Water dispersal / ST¢T YUY

Correct Answer :-Water dispersal / STl UHIY

29)
Question Stimulus :-

6581 — (38 + 286 + 1593 + 3074) =

(41)



* 1391

1590
® 2070
® 1940

Correct Answer :-1590

30)
Question Stimulus :-

All animals depend on plants directly or indirectly for their food. Therefore these are called /mﬁ ST UH& gt

e U W e & e def W Fnik §)1 gafie 3° oo ¥
® Parasites / TRGITAl
e Saprophytes / Jaciial
® Heterotrophs / TRUITY
® Autotrophs / U

Correct Answer :-Heterotrophs / GRUITYd
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